



Name: _____

Date: _____ Score: _____

$$\left(5 - \frac{3}{2}\right)^2 - \frac{1}{3} \times \frac{3}{4} + 4^2 =$$

$$\left(3 - \frac{3}{4}\right)^2 + \frac{1}{2} - \frac{1}{6} - 3^2 =$$

$$\left(\frac{1}{3} + \frac{1}{3}\right)^2 - \frac{2}{3}\left(\frac{2}{5} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{4} - \left(\frac{3}{2} + \frac{3}{5}\right)^2 =$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 - \frac{3}{2}\left(\frac{1}{4} - \frac{1}{2}\right) =$$

$$\left(\left(\frac{3}{4}\right)^2 - \frac{2}{5}\right) \times \frac{3}{4} + \left(\frac{1}{5} + \frac{1}{3}\right)^2 =$$

$$\left(\frac{1}{2} - \left(\frac{2}{3}\right)^2\right) \times \frac{3}{4} - \left(\frac{3}{2} + \frac{1}{4}\right)^2 =$$

$$\left(\frac{1}{4} - \frac{1}{2}\right)^2 - \frac{1}{3}\left(\frac{2}{5} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{3}{5} - \frac{1}{3}\right)^2 - \frac{1}{2}\left(\frac{3}{5} + \left(\frac{3}{5}\right)^2\right) =$$

$$\left(\frac{1}{2} + \left(\frac{3}{4}\right)^2\right) \times \frac{2}{3} - \left(\frac{3}{2} - \frac{3}{4}\right)^2 =$$



Name: _____

Date: _____ Score: _____

$$(5 - \frac{3}{2})^2 - \frac{1}{3} \times \frac{3}{4} + 4^2 = 28$$

$$(3 - \frac{3}{4})^2 + \frac{1}{2} - \frac{1}{6} - 3^2 = (-\frac{173}{48}) = (-3\frac{29}{48})$$

$$(\frac{1}{3} + \frac{1}{3})^2 - \frac{2}{3}(\frac{2}{5} + (\frac{1}{2})^2) = \frac{1}{90}$$

$$(\frac{1}{2} - (\frac{1}{2})^2) \times \frac{1}{4} - (\frac{3}{2} + \frac{3}{5})^2 = (-\frac{1739}{400}) = (-4\frac{139}{400})$$

$$(\frac{1}{2} + \frac{1}{2})^2 - \frac{3}{2}(\frac{1}{4} - \frac{1}{2}) = \frac{11}{8} = 1\frac{3}{8}$$

$$((\frac{3}{4})^2 - \frac{2}{5}) \times \frac{3}{4} + (\frac{1}{5} + \frac{1}{3})^2 = \frac{5851}{14400}$$

$$(\frac{1}{2} - (\frac{2}{3})^2) \times \frac{3}{4} - (\frac{3}{2} + \frac{1}{4})^2 = (-\frac{145}{48}) = (-3\frac{1}{48})$$

$$(\frac{1}{4} - \frac{1}{2})^2 - \frac{1}{3}(\frac{2}{5} + (\frac{1}{2})^2) = (-\frac{37}{240})$$

$$(\frac{3}{5} - \frac{1}{3})^2 - \frac{1}{2}(\frac{3}{5} + (\frac{3}{5})^2) = (-\frac{92}{225})$$

$$(\frac{1}{2} + (\frac{3}{4})^2) \times \frac{2}{3} - (\frac{3}{2} - \frac{3}{4})^2 = \frac{7}{48}$$